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Boson Stars

● Massive Free Field

– Maximum Mass

– Solar Masses for  

● with self-interactions

– Effective Interaction Strength
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Fermion-Boson Stars

● Modified TOV Equations

– Initial Conditions

– Here: DD2 EoS

● Stability Conditions
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Mass-Radius Relations
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Mass-Radius Relations
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Tidal Deformability

● Quadrupolar tidal field

● Induces linear response at large radii

● Dimensionless Tidal Deformability

● Calculate via pertubative expansion to fields & 
metric
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Tidal Deformability
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Observational Constraints
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Perturbative Expansion
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Comparison to Effective EoS
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